LOFT RICO PARROT HABITAT

Montagehandleiding | Instructions de montage | Assembly
instructions | Montageanleitung | Instrucciones de montaje |
Instrucdes de Montagem | Istruzioni di montaggio |
Monteringsanvisningar | Monteringsanvisninger |
VIHCTRYKLUMW MO COOpKe

11—
1

1

1

1

1
1

==

1]

|

L

T
T
I |
1101
1111
[
|
I

.
T
A

17177

A A

TI AT T 7TV [

\ Feels \ike

home l

LAROY GROUP™ | Industrieweg 98-100 | 9032 Wondelgem | Belgium
www.laroygroup.com | Made in China



[ @ e

®

N
ﬁ / / 32 14,8
G X1
@

O ® @ &  © @
— = &= | T © © ©

16 pcs M5x25 12 pcs M5x12 4 pcs M6x10 2 pcs M6x45 2pcs MBNUT 8 pcs M5NUT 8 pcs M5 GASKET
H H i Iy










